
English  29.9.20 

 

The conjunctions have be given but can you complete the sentences 

making them interesting and ensuring that they make sense? 

Ug is a young boy from the Stone Age. 

 

Row 2 – copy and complete these sentences 

1. I wish trousers weren’t made of stone because ………………    

2. Most things were made of stone or ………………………… 

3. The stones hurt Ug’s foot when ……………………..  

4. Neanderthals were dim because ……………………….  

5. It would be good if stones were lighter so that ………………..  

6. Ug’s parents didn’t like the language that ………………. 

7. The boat would float if ………………………. 

 


